
𝑓(𝑥) = 𝑥 + 3

𝐹𝑖𝑛𝑑:

𝑓(2) = 𝑓(−5) = 𝑓(𝑥 + 2) = 𝑓(2𝑥) =

𝑔(𝑥) = 𝑥ଶ

𝑔(2) = 𝑔(−5) = 𝑔(𝑥 + 2) = 𝑔(2𝑥) =

𝑚(𝑥) = (𝑥 − 2)ଶ + 4

𝑚(2) = 𝑚(−5) = 𝑚(𝑥 + 2) = 𝑚(2𝑥) =
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𝑓(𝑥) = 2𝑥 − 1

𝑔(𝑥) = 𝑥 + 1

𝐹𝑖𝑛𝑑 𝑎𝑛𝑑 𝐷𝑟𝑎𝑤 𝑓(𝑥) + 𝑔(𝑥)

𝐹𝑖𝑛𝑑 𝑎𝑛𝑑 𝐷𝑟𝑎𝑤 𝑓(𝑥) − 𝑔(𝑥)

𝐹𝑖𝑛𝑑 𝑎𝑛𝑑 𝐷𝑟𝑎𝑤 𝑓(𝑥)𝑔(𝑥)
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𝑓(𝑥) = 𝑥 + 1

𝑔(𝑥) = 𝑥 − 2

𝐹𝑖𝑛𝑑 𝑎𝑛𝑑 𝐷𝑟𝑎𝑤 𝑓(𝑥) + 𝑔(𝑥)

𝐹𝑖𝑛𝑑 𝑎𝑛𝑑 𝐷𝑟𝑎𝑤 𝑓(𝑥) − 𝑔(𝑥)

𝐹𝑖𝑛𝑑 𝑎𝑛𝑑 𝐷𝑟𝑎𝑤 𝑓(𝑥)𝑔(𝑥)
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𝑓(𝑥) = 2𝑥 − 1

𝑔(𝑥) = 𝑥 + 1

𝐹𝑖𝑛𝑑 𝑎𝑛𝑑 𝐷𝑟𝑎𝑤 𝑓(𝑔(𝑥))

𝐹𝑖𝑛𝑑 𝑎𝑛𝑑 𝐷𝑟𝑎𝑤 𝑔(𝑓(𝑥))
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𝑔(𝑥) = 3𝑥𝑓(𝑥) = 𝑥 + 1

𝐹𝑖𝑛𝑑:

𝑓൫𝑔(𝑥)൯ =
𝑔൫𝑓(𝑥)൯ =

𝑓൫𝑔(2)൯ = 𝑔൫𝑓(𝑥)൯ = 0

𝑓(𝑥) = (𝑥 − 1) 𝑔൫𝑓(𝑥)൯ = 𝑥ଶ − 2𝑥 − 3

𝑓(𝑥) = ?𝑔(𝑥) = (𝑥 − 1) 𝑓൫𝑔(𝑥)൯ = 𝑥ଶ − 2𝑥 + 1

𝑔(𝑥) = ?
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@(𝑥) ≠ 0,1, 𝑥 𝑜𝑟 @(𝑥)

ℎ(𝑥) = (𝑥 − 1)ଶ − 4𝐹𝑖𝑛𝑑 𝑓(𝑥) 𝑎𝑛𝑑 𝑔(𝑥) 𝑖𝑓:

ℎ(𝑥) = 𝑓(𝑥)𝑔(𝑥)

ℎ(𝑥) = 𝑓(𝑥) + 𝑔(𝑥) ℎ(𝑥) = 𝑓(𝑥) − 𝑔(𝑥)

ℎ(𝑥) = 𝑓(𝑔(𝑥))

ℎ(𝑥) = 𝑥ଶ − 2𝑥 − 3

ℎ(𝑥) = 𝑓(𝑔(𝑥))

ℎ(𝑥) = 2𝑥ଶ − 6𝑥 − 8

Note: Complete
           the square

𝐹𝑖𝑛𝑑 𝑓(𝑥) 𝑎𝑛𝑑 𝑔(𝑥) 𝑖𝑓:

Note: Factor

C12 - 10.2 - Composite FoG HMK

   Ops Page 6    


